
 

A. Choose the Correct Answer: 
1. A fruit seller sold 234 apples on Monday and 345 on Tuesday. How many 

apples did he sell in total? 
a. 579 
b. 589 
c. 569 
d. 599 

2. A shop had 1200 pens. The owner bought 800 more. How many pens are 
there now? 
a. 1900 
b. 2000 
c. 2100 
d. 2200 

3. There are 450 boys and 550 girls in a school. What is the total number of 
students? 
a. 1000 
b. 1100 
c. 1050 
d. 1010 

4. A library had 3245 books. It received 1765 more. How many books are there 
now? 
a. 5010 
b. 5000 
c. 5100 
d. 5110 

5. A truck carried 3450 kg of goods and another carried 2870 kg. What is the 
total weight? 
a. 6320 kg 
b. 6310 kg 
c. 6220 kg 
d. 6200 kg 

Problems on Addition



B. Fill in the blanks 

1.  A farmer grew 2350 kg of potatoes and 1860 kg of onions. Total vegetables = 
______ kg 

2.  A shopkeeper had ₹1230 and earned ₹2340 more. Now he has ₹______ 

3.  A bus carried 450 people in the morning and 520 in the evening. Total = 
______ 

4.  A boy read 120 pages on Saturday and 135 on Sunday. Total pages read = 
______ 

5.  A box had 145 marbles and 365 more were added. Now it has ______ marbles 

C. Different Type Questions 

1. There are 1345 red balls and 2654 blue balls in a shop. Find the total number of 
balls 

2. Match the following: a. 1200 + 1300 
 

3. Circle the correct sum: A man earns ₹2345 in January and ₹4321 in February 
 

4. Add: A car travelled 1234 km in one trip and 2345 km in another. How much 
distance did it travel in total? 

5. A girl collected 500 stamps from one city and 800 from another. Find the total 
stamps 

D. True or False 

1.  If you add 0 to a number, the number remains the same 

2.  Word problems always have numbers that need subtraction 

3.  Addition is used to find total or more than one group 

4.  2356 + 1890 = 4246 

5.  When adding numbers in a word problem, we must read the  question 
carefully 

E. Miscellaneous Questions 

1. A school has 1245 books in the library and buys 2560 more. Find the total 
books 



2. A family drove 345 km in the morning and 456 km in the evening. What is the 
total distance? 

3. A toy shop sold 1500 toys in January and 1750 toys in February. How many toys 
did it sell in two months? 

4. A man has ₹3450 in his bank and deposits ₹2300 more. How much money does 
he have now? 

5. 1890 students attended the first event and 2110 attended the second event. 
Find the total number of students 


